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Q1

Q2

(a)

(b)

(c)

(a)

(b)

Draw the graphical representation to show the vector with initial point A = (2, 4) and
terminal point B = (5, 6).

(6 marks)
Leta=(7,2) and b = (-3, 5). Calculate:
(i) a—6b
(3 marks)
(ii) 3a+4b
(3 marks)
(iii)  Magnitude of b
(3 marks)
Prove that
pe(@*xr)=(xq-r
for vectors p=(2,1,1),q=(1,-1, 1) and r=(3, 7, 4).
(10 marks)
Let
_(3 4 (1 3
A= (1 _2) and B (_2 8)
Compute:
(i) A+B
(2 marks)
(i) AB
(2 marks)
(i)  det(AB)
(2 marks)
(iv) Inverse matrix of A
(4 marks)
Given
—3x+2y—6z=6
5x+7y—5z=6
x+4y—2z=38
Solve the system of linear equations by using Gauss elimination method.
(15 marks)
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Q3

Q4

Find the maximum and minimum value of Z = x + 4y

(a)

(b)

(©)

(d)

Subject to
2y +x =10
2y +3y <24
y < 4x
x,y =0

Sketch a graph to illustrate the feasible region.

Determine the corner points of the feasible region.

Compute the maximum value.

Compute the minimum value.

Find the maximum value of p = 3x + 2y + z

(a)

(b)

Subject to
2x +2y+z<10
X+ 2y 3z £15
x20,y=20,z=20

Construct the initial simplex tableau.

Solve the Q4 (a) to obtain the final tableau.

-END OF QUESTIONS-
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(8 marks)
(7 marks)
(5 marks)

(5 marks)

(6 marks)

(19 marks)
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